SANYe==It

A AL T

T REZEHHIER

il =Dt H SR G

ZHEJIANG SANYE MACHINERY CO.,LTD



SANYE=H

ARG, el

I 2 sANYE MACHINERY
' ——— T o 2 gy

p= —— v = - - S — - . _-. - I,__Lr-_-__,






NEJET
Company profile

L= ERABR—REWEFEL. ERLE. BRESHARERESHNEFEREIN, AF
UFFER=ZAAEMI~IE, 2ESANSEEFEMZ —HNTEE. BRMNFELUERVIZISAE, 3/
B @ERNA TR EBBYR, RBERE, XKENBEEXIME,

NEHERENESE, [ XEMEMS0000RF7H, B—HKERIT. £/ HERRSA—EFEIL,

REMEEF[EREK. BRLE. BRESHARBRESKE2000RLE. ERERETEERSAEEN
BIEUA20RE, MHIFRAEN FEEE—HNE, FmiZHERE. FEERPRFE RN,

REIEHEEF1S09001:2008, 1S014001:2004. 1SO/TS16949:2009 R E RS F = m3CaaHI14IA
iE, GIEHRERYERBIEERBEHDOTINEH ™ BIRBEARNITETBREREFNREESHIT,

MI=HNHERAT —ELUREE BEARCH, AMEE" Nl RE. AhipRHEEREN~ R,
ERIEGEEESNUE. ITHRESESERNTINREREN. AU—RNFRNENEENRENER
F' r\_ %—FHHEO '_TIE]BT/Q}/mniEo

/- ftif ) ey i = | B :‘- 3 .-'_'.'; *-h.‘-*

' t.-------
H-'iﬂliﬂiiﬂ
IIIIIIIIEIIIII\

—ERCIE R ]

Il + sANYE MACHINERY



IloRE
Enterprise honor

| 20O+t EALEAEHR | BT

R Rl

AAA % wnregFor Wl == B LD —

HE LA
; : | HiEEWE hagsh, | T
snsuwanernss Ml SEmNTS ; MR

Ek\_ = o i B SRl - B 2 ..ﬁﬁ—_

-

ZCRTIFIKAT TUVNORD

iir das Managermend Sysiem
prbprerie it i % g i
i ' 3 = e RFIL=eH UL RLE: W
Eme————— o o o AL LAY
a1, i mm\‘m‘q’mm e ! s RSN
i ] 2 ORI L RN, L
= =] L)
Fhersinbory v Wperrsisens (PATH, BRI i @ & R
- ! o = T
(=} (=]
T el o o
e o o
Ccn 5] o
— —— = =
i = =
Sty e et i i = =
e . —a 8 i e @ ey
O O
if’ @ e P ——

BIABIESRE | SR ASEITIRAS RIS,

Team create honor, we encourage the spirit of
sacrificing for the cause.

S LR LR
o -

— —_—
|

SANYE MACHINERY 5




SANYE=D

http:www.cnmingjie.com

HI& 1 4X2 6X4 8X6 10X8 12X9 15X12 16X2 18X1.5

HHE 1 4X2 6X4 8X6 10X8 12X9 15X12 16X2

S : 6X4 8X5 10X7 12X8 14X10 16X12

g -

FIHE 1 6X4 8X5 10X7 12X8 14X10 16X12

g : PA12 12X9 M22X1.5 Z1/2 M16X1.5

M8 1 PA12 12X9 M22X1.5 Z1/2 MI16X1.5

SANYE MACHINERY

g : PA12  12X9 M22X1.5 Z1/2 M16X1.5




http:www.cnmingjie.com

K : PA12 12X9 M22X1.5 Z1/2 M16X1.5

#t& : PA12 DOT Z1/2

R : PA12 12X9 M22X1.5 Z1/2 M16X1.5

il 1177

T
\ i

!

%
|

g 1 PA12  12X9 M22X1.5 Z1/2 M16X1.5

g - PA12 12X9 M22X1.5 Z1/2 M16X1.5

g : PA12  12X9 M22X1.5 Z1/2 M16X1.5

g : PU 12X8 M22X1.5 Z1/2 M16X1.5

,a*““-“\\i|

T %
N

#lFg : PU 12X8 M22X1.5 Z1/2 M16X1.5

SANYE MACHINERY




SANYE=D

R
—_

g W

g : PU 6X4 8X5 10X7 12X8 14X10 16X12 L25m #lfg : PU 8X5 L5m

FI#& : PU 12X8 M22X1.5 Z1/2 M16X1.5 4E © PU 12X8 M22X1.5 Z71/2 M16X1.5

#IFE : PU 12X8 M22X1.5 Z1/2 MI16X1.5 4 : PA12 DOT Z71/2

#Ig : PA12 DOT Z1/2 #14% : PE/PU

8 SANYE MACHINERY




http:www.cnmingjie.com

g : PA12 8X6 #fg : PU 6X4

& : PU 6X4 Mg : pU

48 : PA12  110mx90mm ##g : PA12  110mx90mm

| E
| — N g

Tolay Em
LK TR

LTy ’ . S
SN TEY
LRTRTH TR ol LI
R Tt | .I. ,‘ . Ty
HN R EREHTTY

HitE : PAL2 g - PU

SANYE MACHINERY 9



SANYE=D

AT
W A fognannnnn e tibofulifa s
(. U T T T TR Ty Mt il ..,,':,.-'If-’_'r

& : PU 35m 4m 5m

#tg: PU 35m 4m 5m #g : PU

f sve-103s

f sve-1037
F

g : PA g : PU

I 10 sANYE MACHINERY



http:www.cnmingjie.com

g - g -
BENZ 0.35m 13m 24m 2.6m 4m 4.6m

kg -

SANYE MACHINERY



SANYE=D

FEg - FHg -

f sve-104

& : 04 o5 06 ®8 d10 ®12 D14 D16 g : 04 ©5 06 8 dL0 P12 D14 D16

I 12 sANYE MACHINERY



http:www.cnmingjie.com

g : 04 5 O®6 B8 B0 P12 dL4 D16 HtE 04 ©5 06 ®8 10 ®12 D14 D16

M M4 M6 M8 M10 M12 M14 MI15 M16 M18

& : M4 M6 M8 M10 M12 M14 M15 Ml1l6é M18

FI4& © M22X1.5 g - 71/4

SANYE MACHINERY 13




SANYE=D

g - 21/4 g : 12X6 12X8 12X10 12X12 12X14 12X16

FI#& : M8X1 M10X1.5 M12X1.5 M14X1.5 MI16X1.5 g : M8X1 MI10X1L.5 M12X15 M14X1.5 M16X1.5
M18X1.5 M18X1.5

g :M12X1.5 M14X1.5 M16X1.5 M18X1.5 M22X1.5 & : M22X1.5-M16X1.5 M22X1.5-M18X1.5
M24X1.5 M26X1.5 M30X2

g
ST

#ItE :M12XL5 M14XL5 M16XL5 MI8XL5 M22X1.5  ##§ :MI12X15 MI4XL5 MI6XL5 MI8XL5 M22X15

14 SANYE MACHINERY




http:www.cnmingjie.com

g : M12X1.5 M14X1.5 M16X15 MI18X15 M22X1.5

S - M22X1.5

A R

)‘ i N
\ Yﬁ

g :M12X1.5 M14X15 M16X1.5 M18X15 M22X1.5

‘A_\n\-.'v-.-:'_{' i X
\nm\mf:-»:--- i
(]

v

I : M12X1.5 M14X15 M16X15 MI18XL5 M22X15

#IHE : M22X1.5 M18X1.5

$4& : M18X1.5-M18X1.5 M18X1.5-M16X1.5

g : M16X1.5-M18X1.5

TV

g : M22X1.5-M18X1.5

SANYE MACHINERY




SANYE=D

HIH 1 M22X1.5-M22X1.5 Ht& : M22X1.5-M18X1.5

IR : M12X1.5 M14X1.5 M16X1.5 MI18X1.5 M22X1.5 G : M12X1.5 M14X1.5 MI16X1.5 MI18X1.5 M22X1.5

1

ey .\\“'&x\'n\\'\\'- AN ..

g : M18X1.5-3 FHE : M16X1.5-M18X1.5X2

g : M22X1.5-M22X1.5 g © M22X1.5-M18X1.5

16 SANYE MACHINERY




http:www.cnmingjie.com

| LRRREAT

g : M16X1.5-M18X1.5

HI4§ © M22X1.5-M18X1.5

S :M12X1.5 M14X1.5 MI16X1.5 MI18X1.5 M22X15

HHE : M22X1.5-3/8" M22X1.5-1/2"

/ A

& © M22X1.5-M18X1.5 M22X1.5-M16X1.5

Ut : 71/2-M18X1.5

SANYE MACHINERY 17



SANYE=D

& 1 73/4-M27X1.5 W& : M4 M6 M8 M10 Ml14 M16

ME: M4 M6 M8 MI10 M14 Mle  HW#&:M22X15-M6 M22X1.5-M8 M22X1.5-M10
M22X1.5-M12 M22X1.5-M14

o M

g : M22X1.5-M6  M22X1.5-M8 M22X1.5-M10 g : M22X1.5-M6  M22X1.5-M8 M22X1.5-M10
M22X1.5-M12 M22X1.5-M14 M22X1.5-M12 M22X1.5-M14

g : 14" 3/8" 172

18 SANYE MACHINERY




http:www.cnmingjie.com

)

S |

HIEg : M22X1.5-M6 M22X1.5-M8 M22X1.5-M10
M22X1.5-M12 M22X1.5-M14

g - M22X1.5-M6  M22X1.5-M8 M22X1.5-M10
M22X1.5-M12 M22X1.5-M14

fsve-1102

fsve-1103

FEg -

Feg -

'SYE-1104

f sve-1105

Ut -

kg -

FEg -

sanve MACHINERY 19 [



SANYE=D

20 SANYE MACHINERY




http:www.cnmingjie.com

S - 45 -

00110-03A 5 03 23 00210-03 5 03 27
00110-04A 6 04 30.5

00110-05A 8 05 30 LY 0% e s e
00110-06A 10 06 32 00210-05 8 05 31
00110-08A 12 08 34 00210-06 10 06 32
00110-10A 16 10 37

00110-12A 20 12 42 00210-08 12 08 34
00110-16A 25 16 51 00210-10 16 10 37
00400-04 6 04 37.5 00210-12 20 12 43
00400-06 10 06 39

00400-08 2 08 a1 00210-16 25 16 50
00400-10 16 10 43 00210-20 32 20 59
00400-12 20 12 51 00210-24 40 24 74
00400-16 25 16 61.5

00400-20 32 20 675 00210-32 50 32 8
00400-24 40 24 75 i NEERT IR

00400-32 50 32 79 Dot't recommend for engineering machine.

sANYE MACHINERY 21 [



SANYE=D

03310-03 5

03310-04 6 04 30.5
03310-05 8 05 30
03310-06 10 06 32
03310-08 12 08 34
03310-10 16 10 37
03310-12 20 12 42
03310-16 25 16 51

20411-12-04 M12X1.5 6 04 6 004.5X1.5 26 1 17
20411-14-04 M14X1.5 6 04 8 006.5X1.5 275 2 19
20411-14-06 M14X1.5 10 06 8 006.5X1.5 27.5 2 19
20411-16-04 M16X1.5 6 04 10 008.0X1.5 28 2 22
20411-16-05 M16X1.5 8 05 10 008.0X1.5 28 2 22
20411-16-06 M16X1.5 10 06 10 008.0X1.5 28 2 22
20411-18-05T M18X1.5 8 05 12 010.0X1.5 27.5 1.8 22
20411-18-06 M18X1.5 10 06 12 010.0X1.5 29 25 24
20411-18-08 M18X1.5 12 08 12 010.0X1.5 29.5 2.5 24
20411-22-05T M22X1.5 8 05 15 012.0X2.0 29.5 2.1 27
20411-22-06T M22X1.5 10 06 15 012.0X2.0 29 25 27
20411-22-08 M22X1.5 12 08 15 012.0X2.0 32 25 27
20411-26-10 M26X1.5 16 10 18 015.0X2.0 35 2.5 32
20411-26-12 M26X1.5 20 12 18 015.0X2.0 35 2.5 32
20411-27-10T M27X1.5 16 10 18 015.0X2.0 28 25 32
20411-27-12 M27X1.5 20 12 18 015.0X2.0 35 25 32
20411-30-10T M30X2 16 10 22 020.0X2.0 35 4 36
20411-30-12 M30X2 20 12 22 020.0X2.0 38 4 36
20411-36-12T M36X2 20 12 28 026.0X2.0 35 4 41
20411-36-14T M36X2 22 14 28 026.0X2.0 36 4 41
20411-45-16T M45X2 25 16 35 032.0X2.5 41 5 55
20411-45-20T M45X2 32 20 35 032.0X2.5 42 5 55
20411-52-20T M52X2 32 20 42 038.0X2.5 44 5.5 60
20411-52-24T M52X2 40 24 42 038.0X2.5 44 55 60

iE L LEPSATRAKE.

Note:1.for use with braided hoses.

2 INFEATESERERSHI920412-xx-xX.
2.if use with spiral hoses, hose fitting series number is 20412-xx-xx.

I 22 sAnYE MACHINERY




http:www.cnmingjie.com

10511-14-04 M14X1.5 6 6 12
10511-16-04 M16X1.5 6 04 8 26.5 12 17
10511-18-04 M18X1.5 6 04 10 26.5 12 19
10511-20-05 M20X1.5 8 05 12 27 12 22
10511-20-06 M20X1.5 10 06 12 26.5 12 22
10511-22-05 M22X1.5 8 05 14 30.5 14 24
10511-22-06 M22X1.5 10 06 14 30.5 14 24
10511-22-08 M22X1.5 12 08 14 31 14 24
10511-24-08 M24X1.5 12 08 16 31.5 14 27
10511-30-10 M30X2 16 10 20 36 16 32
10511-30-12 M30X2 20 12 20 36 16 32
10511-36-12 M36X2 20 12 25 40.5 18 41
10511-36-16 M36X2 25 16 25 41.5 18 38
10511-42-16 M42X2 25 16 30 44 20 46
10511-42-20 M42X2 32 20 30 45 20 46
10511-52-20 M52X2 32 20 38 50 22 55

iE  LERPRSETREAKRE, 2 INFRATESRENSHII10512-xx-xx.

Note:1.for use with braided hoses. 2.if use with spiral hoses, hose fitting series number is 10512-xx-xx.

S - 45 -

sANYE MACHINERY 23 ([



SANYE=D

4% !

ME:M4 M5 M6 M8 M9 M10 M1l M12 M1l4 ##g:M4 M5 M6 M8 M9 M10 M1l M12
Ml6 M18 1/4" 3/8" 1/2" 5/8" Mleé M18 1/4" 3/8" 1/2" 5/8"

g : M22X1.5-M6  M22X1.5-M8  M22X1.5-M10 g : M22X1.5-M6  M22X1.5-M8  M22X1.5-M10
M22X1.5-M12 M22X1.5-M14 M22X1.5-M12 M22X1.5-M14

g : Z1/4-M6  Z1/4-M8 Z1/4-M10 Z1/4-M10 Z1/4-M12 #U#&:
Z3/8-M6 Z3/8-M8 Z3/8-M10 Z3/8-M12

24 SANYE MACHINERY




http:www.cnmingjie.com

g : M22X1.5-M6  M22X1.5-M8  M22X1.5-M10 ME: M4 M5 M6 M8 M9 MI0 M1l M12 M14
M22X1.5-M12 M22X1.5-M14 M16 1/4" 3/8" 1/2"

g . Z1/4-M6  Z1/4-M8 Z1/4-M10 Z1/4-M10 Z1/4-M12 ##& :Z1/4-M6X2 Z1/4-M8X2 Z1/4-M10X2 Z1/4-M10X2
Z3/8-M6 7Z3/8-M8 Z3/8-M10 Z3/8-M12 Z1/4-M12X2 Z3/8-M6X2 Z3/8-M8X2 Z3/8-M10X2
Z3/8-M12X2

Mg :M4 M5 M6 M8 M9 MI10 M1l M12 M14 Hit&: 8X5
M1l6 1/4" 3/8" 1/2"

SANYE MACHINERY 25




SANYE=D

S - 4 -

I 26 sANYE MACHINERY



http:www.cnmingjie.com

g : M6 M8 M9 M10 M1l M12 M14

g - 174" 3/8"

SANYE MACHINERY 27




SANYE=D

FEg -

28 SANYE MACHINERY




http:www.cnmingjie.com

SANYE MACHINERY




SANYE=D

HiFg : M16X1.5 M22X1.5

Mg z3/8-23/8 ##&:M12X15

HHE : O10XP6 OL0XP43 OL2XP8 OLAXPL0 ©18XD14 HHE : M16X1.5-M12
PL6XP12  DLIXDI.5

g : M16X1.5-M12 g : M16X1.5-M12 M16X1.5-M15 M16X1.5-M10
M16X1.5-M8

30 SANYE MACHINERY




http:www.cnmingjie.com

HIEg : M22X1.5-M12 M22X1.5-M10 M22X1.5-M8
M22X1.5-M14

g : M22X1.5-M6 M22X1.5-M8 M22X1.5-M10
M22X1.5-M12

g : M6 M8 M10 M12 M15 1/4" 3/8" 1/2"

#UFg : M22X1.5-3/8" M22X1.5-1/2"
M16X1.5-3/8" M16X1.5-1/2"

SANYE MACHINERY 31




SANYE=D

.?x '_—._GI w\\\\k -

g - NPT1/4 3/8" HlHg : NPT1/8  3/8"

g - NPTL/4 1/2" g - NPT1/4 NPT1/4

# : NPT1/2" NPTL/2" g : NPT1/4 NPT1/4

“. Ve AL LAY
RN

HEg - | g - 71/2 21/

32 SANYE MACHINERY




http:www.cnmingjie.com

g : M6xM6  M12xM12 M8xM8 M15xM15 g : NPT1/4

g - 3/8"  1/4° g - 3/8"

G 4

g : M6xM6  M10xM10 M15xM15 M8xM8 MI12xM12  ##§ : NPT1/2 3/8"

HUFg - NPT1/2 3/8"

g : NPT1/2 NPTL1/2

SANYE MACHINERY




SANYE=D

Wiy
'y

_*]....-\

#I# : NPT3/8  3/8"

48 - NPT1/4 3/8" - *ﬂ!: NPT38 3/8

mig:3/8" ®30 M8 NPTL/4 3/8"

) ShM AN

| ,.|\l'.f|

g - NPT3/8

34 SANYE MACHINERY




http:www.cnmingjie.com ’/

O - 3/8"

g : M6 M8 M10 M12 M14 Ml16 M18

SANYE MACHINERY 35




MiI=MIWERL S

ZHEJIANG SANYE MACHINERY CO.,LTD

gk, PENDEEREOTWX

Add: diankou industrial zone in zhuji city,zhejiang province,china.
FBiETel: 0575-87616878 87616873 87617318

f€EFax: 0575-87659768

MHEHttp: www.cnmingjie.com

FBF B E—mail:chinasanye@cnmingjie.com




